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Algebra 2 Name

Composition & Geometric Series & Sequence Date,

Perform the indicated operation.

1) fn)=2n 2) flx)=x+2
) =4n gx)=dx—4
Find (/ + g)(n) Find (7 + g)(x)
3) gx)=x-2 4 f()=3x
) =4x-1 glx) = -3«
Find (g- /)(x) Find (f - g)x)
5) gld=a-2 6) W) =35
}'1([;1):03 +2d* -2a g(n):*trrfS
Find (g 4)(a) Find (% - g)(n)
7y fx)=x*-3x 8) glx)=3x+5
x)=3x-3 Flo) =« +5¢°
(S (&
Find (g)(x) Find f)(x)
9) Mx)=3x—5 10) Ax)=x> +2x
Find (ko 4)(x) Find (o 2)(x)

1) flx)=-3x-2 12) f()=t+1

x)=dx-4 =1+t
Find (41 +2g)(x) Find 31 - 5)(¢)

13) glx)=2x+3 14) g(f)=2t+5

flx)=dx+2 W)=r+3+1
Find (g + /)(4) Find (g + £)(-3)
15) g(n):n2+4n 16) g(n):n—l
F)=3n-1 Hn)=n* -4
Find (g - /)(-9) Find (g~ 1)(5)
17) gln)=2n+5 18) M) =4x+4
h(n):n+1 g(x)=4xfl
Find (g - 7)(2) Find (- g)(-2)

Period.

16) g(n)=n—]

h(n) =n’-4
Find (g - 4)(5)

l
]
<

(n“') ~(n%-4)
n-1-n*+Y
- nl-f 4 +3

—(5)+S+ 23

1-

18) Alx)=4x+4

glx)=4x-1

Find (4 - g)(-2)
(‘lx-fH) - (%x—l)
(-§+49) - (-€-1)
F99) < 3%

-dS5+s5 t+3
=-17
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Untitled(22660).notebook April 28, 2015

12 £()= ‘E‘- Lime
g(:)@
Find 37 - 52)(¢)

340>~ 5919

SETHEEEY

3L+ -5L>- 35k

TSET-Z2¢ 4y

Apr 28-12:36 PM

10) hx) = x* +2x
Find (ke h)(x)

")
/y +2% +2 &‘3*2743
(X3+2¥) % "'2\‘\) ¢ -|-2x3‘f‘ Qy "'q?(

%’ZX) + o+

\‘<)/\
)(q-(—;Zyﬁ-l- L{Y-7+ Sy =+ L‘YS* §x3+2x3+",><

9 7
X + (ox + ’Z%S + |of+4;<

Apr 28-12:30 PM
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8) g{(x}): 3x+5 B+ 5
flx)=x* +54° NI
Y +5Sx 2
A
Fmd(f)(.)
Bx+5
X7+ 5%

Apr 28-12:28 PM

6) hn)=3n*-5
gln)=—4n-5
Find (- g)(n)

(3,{3- =) (-4Yn-S)

— 120" )38 £20n + 25

Apr 28-12:26 PM
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12) f()<t+1 t: Lime

)g{: T,
lg(ijld 3f -52)0)

3L - 59!(€)
3 )" 5 @)

3L +3 -5 -5¢€
-5 _2p 43

Apr 28-9:36 AM

10) h 'r +2 ) TZ-X
S +27‘3 + 2 @3'*?7)

(X 1 V)Y\( "’2»:) ()( 1“2»4) + 2,‘ + Y x
X +2x *Qx"‘—a‘-"-,yl

(\(b 4 ¢y -r‘-\xz‘) (’K’)‘*Zx) + 2 My

+?x3+“\x
% Vo lox” + 12x % 4 10x + 4%

Apr 28-9:27 AM




Untitled(22660).notebook

April 28, 2015

2) flx)=x+2
g{x} =4x -4

Find ( + g)(x)

f(x) +j()‘>
@+2 (LD

(Y+2) + (‘-IX‘L(>

=
-—

g{n) =—4n-35
Find (4 - g](n)

Sw - oL
4) f (3:3_3:_ . ( .3><)— (% % 3%
Find (f - g)(x) 9
£)-glx) -~ +bx
6) hln)=3n*-5

(30*5) -4n -5)

8) glx)=3x+5
flx)=x* +5x°

Find (?)(1’)

< +S

&z(x-'-S):o
X£Oo x#-S

‘3(3-& S:L

Apr 28-9:17 AM
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10) ﬁ(uﬂl hx ;2: ~ h (h(*)> (\< +?,¢ +02 & /-b«)

()( +2x>(x 'r?;s) (x_,f?v\.
12) fl)=1+1 @

)=1+
g(illrld (; f ! 5¢)(1) m&)

"'?X + Y53 @\.\&s'_&}

KC\"‘("" P B URERS + 20+ Ux
X +(9~< «—@‘TI%SHW £ Yy

Apr 28-8:21 AM

£ 4Hime

12) f())=1+1
gt)=7 +1 > 3flE) - 54(€)
Find (31 - 5g)(¢)

3le+)-5 (é3+t\

3E+3 -5L2 -5

_SEX‘—Z&-—(-‘S

Apr 28-8:26 AM
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20) g(n)=2n-2
Wn)=n*+5
Find [ £|4)
h
22) gl)=x+1
A x—2 (x) =x'-1
Find (g #)(-6) Find (g° £)-7)
23) g(n):2n+4 24) g(n):n3—1+n
f)==3n+4 Hn)=4n+5
Find (22 + £)(-3) Find (4g - 54)(1)
Evaluate each geometric series described.
25) 3-9-27-81.., n=6 26) -1+4-16+64... n=8
27) al:4,r:3,n:10 28) a‘:3,r:2, n=9
29) al:~4, a7:7256, r=2 30) a‘:.’), n7:139965, r=—6
31) al:71, an:716384, r=4 32) a‘:2, n":128, r=2
D ine if the seq is ic. Ifitis, find the common ratio, the 8th term, and the
explicit formula.
33) 4, -12, 36, 108, ... 34) 3, 6, 12, 24, ...

Given two terms in a geometric sequence find the common ratio and the 8th term.

35) a,=15552 and aq,=72 36) a,=—128 and a,=—64

Given the first term and the common ratio of a geometric sequence find the 8th term.
37) a‘:2,r:—6 38) a‘:2,r:3
Given the explicit formula for a geometric sequence find the 8th term.

39) q,=2-(-5)""" 40) a,=—(-2)"""

Given the recursive formula for a geometric sequence find the 8th term.

41) a =

42) a=a,_, - 4

1
a=1

32) a1=2, a = 128/ r=2

V)

Apr 28-1:07 PM
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28)|a, =3, r=2, nﬂ
a a)
\ | — q
Q - 3I1-4 ) 52
q = = 533
|- /

|=C

Apr 28-1:03 PM

S(cluev\CL

. 0‘.(‘\)“—\

—+ev

¥ )XYy )Yy -

-

-1,4 =1L, Y,...,nx

Evaluate each gmmetr@ q Ser IS > !SU ms

26) -1+4-16+64.., n

8
Y -\ 38= -|(|_<..“9)
i \ -(4)
-, -4
%4 =13, 167
b%/qq,:'q

Apr 28-12:50 PM
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CHIC1=C20FE
-18737418. 23
A=

-1
18737418, 23

10,737, 41§.23

Apr 28-12:58 PM

24) g(n):n3 —1+n
Hn)=an+5
Find (4g — 5h)(1)

190) - s5hi)
7( )-5(‘/(1)*5\

Apr 28-12:49 PM
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Apr 28-12:47 PM

22) glx)=x+1
f(:c)::c2 -1
Find (g° £)(-7)

j(ﬂ 7»

£y~ (1)
~ 44 -
= 4%

9 m(ﬁ‘m N

Apr 28-12:44 PM

10
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28) a =3, r=2, n=9
|
. 3(1-(2) )
T - 2~
= 1533
Apr 28-9:56 AM
Evaluate each geometscrlbed. S‘e(.-| ¢S /) 5\2‘/\
26) -1+4-16+64..., n=8
Sec!uenc-ﬂ- n: &
R P m—
n-|\

an: a\(\f\ §=33u(\)

fo find Yeims Sh: e (1-e")

Y = -
1.y 2 __8‘ \- ¢
-16 | S_ . —(y\¥
T':'Li V‘a\\r(ozp - 8‘(|\(q)\

r~-4 =4

bY/ o

b= -

- |37

Apr 28-9:45 AM
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)=x+1 (PED)  g(us)z 46+ ]
) ji((fh?_l y=) AN E 49

Find (g /)(-7) 49l

24) gln)=n*-1+n b{j (n) + Shh)

Hn)=4n+5
Find (4g — 5h)(1)

Y ( (\\)" S(RHM
3¢7 \\(\‘)=)‘-((\HS

n-=|\

j(‘)" ~ Y+S
"3_|+\ =9
=1+

=
Yy - $(q)= 9-4YS =®

Apr 28-9:40 AM

32) a=2,a =128, r=2

Sf) : j\qﬂ: a,(l‘ )hA

1265= 32"
(,\l__zf\"\
| 0g Y = (n-1) log 2
7 /;P
072 ‘0_7
b+!=n
7= n

12
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Determine if the sequence is geometric. If it is, find the common ratio, the 8th term, and the
explicit formula.

33) 4, -12, 36, —108, ... 34) 3, 6, 12,90, ...
(: -3 r: 2
YES VES

Apr 28-9:00 AM

28) a =3, r=2, n=9

[—-gzg;;]

f; a,(l—r"\

" -

Se= (V-6

= (2

+( + + + - < - - =

Apr 28-8:42 AM

13
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.ol

.32

R
(”_oz .6 M .08 .lb
RS .25
®@d
( \(’—(23 ) BOJ«Y

[otci-cz:-2a
1BPI7A1E, 23
ARz -1

|~ (2)
: Ioﬂg’])bu%.l\S'ﬁ

B T

1a737415. 23§

Apr 28-8:46 AM

Apr 28-8:50 AM

14
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Series S(ﬁval\(e_

n 6

(= ? LIAI :@ "V_ ==
= B 21D
(..l

= = Svin

a ([-r")
Sn: l_ r\(ﬁﬂ\(\l\Ol\ («)(.-o -

S - (1-€6°) ay:a, ()
- )

| An- '\(‘L\Y\-\

=307

Apr 28-8:32 AM

22) glx)=x+1
f(r) =x’ -1
Find (g° £)(-7)

Apr 28-8:29 AM
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Algebra 2

Composition & Geometric Series & Sequence Date, Period

Perform the indicated operation.
1) fn)=2n
g(n) =4n
Find (f + g)(n)
6n
3) g(t) =x-2
F@=dx-1
Find (g - 7)(x)
-3x-1
5) gld=a-2
h(u) =d' +2d*-2a
Find (g 4)(a)

a*—6a" +4a

Name ID:

2) flx)=x+2
g(x) =4x-4
Find (7 + g)(x)

5x-2

4y f(0)=3x

x)=x*-3x
Find (f - g)x)
—x +6x

6) W) =35
g(n) =—4n-3
Find (- g)()

—125* — 151 +20n+25

7) fW)=x2-3x ° §) ) =3x+5 2.\'+52
x)=3x-3 *°3 T =452 TS
Find (i)(x) Find (5)(:&
g I
9) hx)=3x-5 10) W)= +2x
Find (ko 4)(x) Find (o 2)(x)
9x - 20 2%+ 6x7 + 1267 + 10x% + 4x
11) f(x)=-3x-2 12) fl)=t+1
x)=4x-4 =7+t
Find (41 +2g)(x) Find (3.1 - 5g)(0)
—4x-16 -5 -2t+3
13) glx)=2x+3 14) g(f)=2t+5
flx)=dx+2 W)=r+3+1
Find (g + /)(4) Find (g + £)(-3)
29 s
15) g(n) 2 +4n
F)=3n-1
Find (g - /)(-9) Find (g - £)(5)
& 17
17) gln)=2n+5 18) M) =4x + 4
h(n):n+1 x)=4x—1
Find (g - 4)(2) Find (- g)(-2)
27 36
1
19) i(x) = +4 12 20) g(n)=2n-2 %
W=x-5 Won)=n*+5 2
Find (ﬁ)(l 0) Find (5)(4)
g h
21) glx)=2x-3 22) gld)=x+1
H(x)=4x -2 Flo)=x2-1
Find (g 1)-6) Find (g /)(-7)
-55 49
23) gln)=2n+4 24) g)=r* —14+n
fln)=-3n+4 hn)=4n+5
Find (¢ + /)(-3) Find (4g - 5h)(1)
9 41

Evaluate each geometric series described.

25) -3-9-27-8l., n=6
-1092

27) a‘:4, r=3,n=10
118096

29) a,= —4, a,= -256, r=2
=508

31) @, =-1, a =-16384, r=4
-21845

D ine if the is

explicit formula.

33) 4, -12, 36, -108, ... Common Ratio: 7 = -3

a =-8748

Given two terms in a

26) ~-1+4-16+64.., n=8
13107

28) a,=3, r=2, n=9
1533

30) a,=3, a,=139968, r=-6
119973

32) a‘:Z, a= 128, r=2
254

Ifit is, find the common ratio, the 8th term, and the

34) 3, 6, 12, 24, .. Common Ratio: 7 =2
a =384

P

35) a,=15552 and a,=72 Common Ratio: =6

a, = 559872

decse find)thé

ratio and the Sthutetmi: o =3 -2"

36) a,=—-128 and a,=—64 Common Ratio: =2
a;=-512

Given the first term and the common ratio of a geometric sequence find the 8th term.

37) a‘=2, r=-6
a =-559872

38) a‘ZZ, r=3
a,=4374

Given the explicit formula for a geometric sequence find the 8th term.

39) a,=2-(-5)"""
a,=-156250

40) a,=—(-2)""
a,=128

Given the recursive formula for a geometric sequence find the 8th term.

Ay a=a_ -2
a,=-3

a,=384

42) a=a_ -4
a=1
a,=16384

April 28, 2015
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